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*T%Fﬁﬂﬂﬁ% POE ARk X2 B HRERE
1|HI#EH THHAEBRAES 1,644,000
2|HItE™ EfERI—THBAS 2,000,000
3| EiE™H W2 TE RERES 1,740,000
4|5 5H NBETETAE 900,000
5|2 & THh TEH_RX 650,000
6| = IE™H EERERLTNES 1,011,000
JILEES ERBE (FE22K) BEHKE 2,000,000
8| AT E10XBAEE 2,000,000
9|{FSBH AHATX 2,000,000
10[{FB2IGTH =FIEELRX 1,998,000
11[{F8IGH AAREIZTHRX 2,000,000
12| K@AH ERIERES 2,000,000
13| KHEH EEHBMRRER 2,000,000
14[;2H™H A ET X 640,000
15[EE#KTH BAX 870,000
16[3)1H FRMXBEASEESR 1,990,000
17[3)1H FERMXBASESS 2,000,000
18]%)Ilh LR XEASEESR 1,618,000
19[3%)1h EINMXBEASEER 1,950,000
20|31 FEMXEASEESS 228,000
21| &R HRMEXESR 2,000,000
22| Eh — /B X 2,000,000
23|&Zhth ZEEHRESR 1,678,000
24| & hh ZEEHERESR 1,720,000
25|HEYTH KEABFEIX 2,000,000
26|HEYTH FTRETESX 875,000
27| H#EYTH FTRETETX 1,016,000
28| AT F£3X 350,000
29| 25 [if] BT d=I‘JETE,E.=: =E= 1,629,000
30| F{ZHHET =1l 570,000
31| H ZEHT Hé‘?éﬂiTIZE'% 1,412,000
32|h 2z &HT I PN 1,749,000
33| BE AR AT HREX 1,435,000
34| B ERT B ERT B A HET 1,275,000
35| EEHT fif] e X 1,400,000
36| am At BMEHXEHEEER 1,396,000
3711354 dEX 1,160,000
38| BEFOFT X 1,000,000
39| EATHT wRHX 1,459,000
40| BA #0ET EJﬁIJETIZEA 1,594,000
41K RHT F18XFKE 1,424,000
42| 2 ZEHT FAXBAEAE 1,230,000
=&t 42!#(1 2 10l 54)) 61,611,000
FREUA—DEED (Bfr:M)

POE it IESES POE ARk e B E R HREEE
1[AI4&™H SERREAS 2,500,000
2|5 BEXERETAS 5,000,000
3;Z@™H JBZERTX 1,006,000
AR F12T7HE 947,000
5|ATE A HT HIRX 2,164,000
6|t = BT FITHX 1,750,000
7| K HET F10X (FAA) 5,000,000
&5 7=E(3H3H1F) 18,367,000




